

1- BUSINESS TRIP

Business/Corporate Taxi rates and applicable waiting charges all in SAR

Destination	Trip Type	Full-Size Sedan	XL SUV
laddah Airpart	One way	307.68	356.27
Jeddah Airport	Round trip	399.45	626.16
Jeddah City	One way	307.68	356.27
	Round trip	399.45	626.16
Within KAUST*	One way	59.38	97.16
	Round trip	86.37	161.94
Thuwal	One way	86.37	145.75
	Round trip	156.54	248.31
Dobiah	One way	215.92	323.88
Rabigh	Round trip	377.86	593.78
King Abdullah Economic City (KAEC)	One way	226.71	334.67
	Round trip	334.67	539.80
Madinah	One way	701.74	1,187.55
	Round trip	1,187.55	1,997.25
Makkah	One way	340.07	680.14
	Round trip	604.57	1,133.57
Taif	One way	647.76	1,020.22
	Round trip	1,079.59	1,619.39
Cooker Train Ctation	One way	145.75	215.92
Saabar Train Station	Round trip	259.10	415.64
Vanhu	One way	593.78	1,025.61
Yanbu	Round trip	1,025.61	1,727.35
Full Day	8 Hours	755.71	971.63

^{*} Without Interim Stop / Waiting Time

^{*} VAT will be added to the above rates



2- PERSONAL TRIP

Personal Taxi rates and applicable waiting charges all in SAR

Destination	Trip Type	Full-Size Sedan	Family Size	XL SUV
Indiah Aiment	One way	159.81	247.44	340.23
Jeddah Airport	Round trip	309.30	433.02	567.05
1-11-1-0	One way	159.81	247.44	340.23
Jeddah City	Round trip	309.30	433.02	567.05
Within KAUST*	One way	25.78	38.66	51.55
Within KAUST	Round trip	41.24	67.02	92.79
Thursd	One way	51.55	72.17	97.95
Thuwal	Round trip	92.79	123.72	159.81
Dahiah	One way	154.65	206.20	257.75
Rabigh	Round trip	288.68	360.85	443.33
King Abdullah Economic City (KAEC)	One way	128.88	185.58	257.75
	Round trip	257.75	340.23	427.87
Madinah	One way	618.60	773.25	927.90
	Round trip	1,031.00	1,288.75	1,546.50
Makkah	One way	288.68	402.09	515.50
	Round trip	515.50	716.55	927.90
Taif	One way	463.95	587.67	721.70
	Round trip	824.80	1,051.62	1,340.30
Saabar Train Station	One way	103.10	118.57	144.34
	Round trip	180.43	206.20	257.75
Venhu	One way	412.40	515.50	618.60
Yanbu	Round trip	773.25	927.90	1,134.10
Full Day (for Listed Drop Off Points)	8 Hours	546.43	711.39	876.35

^{*} Without Interim Stop / Waiting Time

^{*} VAT will be added to the above rates



Table 3: Rates for One Way Trips to Unlisted Drop Off Points for Personal Trips

Unlisted Drop Off Points (One-Way Trip Distance)	Full-Size Sedan Vehicle Rate	One-Way Trip Distance	Family/SUV Vehicle Rate
Pick-up charges	SAR 10	0 to 5 KM	SAR 15
6 to 50 KM	SAR 1.80 per KM	6 to 50 KM	SAR 3.00 per KM
51 to 100 KM	SAR 90 + SAR 1.50 per KM over 50 KM	51 to 100 KM	SAR 150 + SAR 3.00 per KM over 50 KM
101 to 150 KM	SAR 165 + SAR 1.50 per KM over 100 KM	101 to 150 KM	SAR 300 + SAR 3.00 per KM over 100 KM
151 to 200 KM	SAR 240 + SAR 1.50 per KM over 150 KM	151 to 200 KM	SAR 450 + SAR 3.00 per KM over 150 KM
201 to 250 KM	SAR 315 + SAR 1.50 per KM over 200 KM	201 to 250 KM	SAR 600 + SAR 3.00 per KM over 200 KM
251 to 300 KM	SAR 390 + SAR 1.50 per KM over 250 KM	251 to 300 KM	SAR 750 + SAR 3.00 per KM over 250 KM
Above 301 KM	SAR 465 + SAR 1.50 per KM over 301 KM	Above 301 KM	SAR 900 + SAR 3.00 per KM over 301 KM



The cost of Round Trips to Unlisted Drop Off Points will be double the applicable One Way Trip rates to Unlisted Drop Off Points, stated above in Table 2.

Table 4 below states the rates for Waiting Time Rates and the rates to be applied to Interim Stops, Grace Periods, and On Route Drop Off Points for Personal Trips, in accordance with Appendix 2 related to any Trips.

Table 4: Waiting Time Rates, Grace Period Rate, and On Route Drop Off Point Rate for Personal Trips

Description	Rates (SAR)	Remarks
Waiting Time (Full- Size Sedan)	20	Waiting Time Rate shall be applied for every fifteen (15) minute period or fraction thereof after Grace Period.
Waiting Time (Family Size)	25	Waiting Time Rate shall be applied for every fifteen (15) minute period or fraction thereof after Grace Period.
Waiting Time (XL SUV)	30	Waiting Time Rate shall be applied for every fifteen (15) minute period or fraction thereof after Grace Period.
Interim Stop	20	Any Interim Stop during the Trip will be charged as defined
On Route Drop-Off Point	No charge	Any Drop Off Point during the same Trip and on the same route as the Booked Trip (an "On Route Drop Off Point") will be free-of-charge.
Grace Period Waiting Time	No charge	Waiting Time Rates for Round Trips to Listed Drop Off Points or Unlisted Drop Off Points will be free up to a maximum of sixty (60) minutes from the initial Drop Off Point.